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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? m kN/m? m kN/m? kN/m? kN/m? kN/m?
1 2 92.37 1.00 11.13 2.08
2 3 100.00 1.00 100.00 1.00 16.63 311 16.05 3.00
3 4 159.79 1.00 100.00 1.00 16.63 311 16.05 3.00
4 5 152.26 1.00 100.00 1.00 15.04 281
5 6 149.38 1.00 100.00 1.00 14.65 2.74
6 7 153.90 1.00 100.00 1.00 14.48 271
7 8 153.90 1.00 100.00 1.00 14.21 2.66
8 9 100.00 1.00 100.00 1.00 12.56 2.35
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m m
m m
100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?
2 65.18 1.00 10.03 1.87
3 78.62 1.00 10.03 1.87
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